Breakdown of Included Items

Part #: OPA999

[Item # | Description [Qty| |Item # | Description

TRANS PAN TRANSMISSION OIL PAN 1 O-RING RUBBER O-RING

TRANS FILTER ~ TRANSMISSION FILTER 1 NYLON WASHER NYLON WASHER

TRANS GASKET TRANSMISSION PAN GASKET 1 #10-24 BOLT #10-24 X 2 1/8" HEX BOLT
TRANS ADAPTER TRANSMISSION ADAPTER 1 #10 WASHER  #10 FLAT WASHER
DRAIN PLUG TRANSMISSION DRAIN PLUG 1



